IITPAL — SWAYAM

© JEE Main 2020 (Online) 2nd September Morning Slot
MCQ (Single Correct Answer)

IfR={(x, y) : x,y €2Z, x2 + 3y2 < 8} is a relation on the set of integers Z,

then the domain of R°! is :

O {0, 1}
Q-2 1,1, 23
O {-1, o, 1}

O {2, 1,0, 1, 2}

Explanation

Given R = {(x, y) : x, y € Z, x2 + 3y? < 8}

So R = {(0,1), (09-1)’ (190)9 (-199)9 (1’1)’ (19'1)
('191), ('19'1)9 (230)9 (-290)9 (‘2,0), (291)1 (29-1)3 ('291)9 ('23'1)}

= R : '{"29 "1, 0, 1, 2}_’ {'1: 0: 1}
SR {-1,0, 1} - { -2, -1, 0, 1, 2}

.. Domain of R = {-1, 0, 1}



